
Application Description D

(mm)

W

(mm)

PG

(mm)

Fastening 

Set

Machining

Code

Mass

(g)

Part No.

PG40

80mm
10.2
4.0

100-40-80 (pcs/ ) 9 70 40 522 3.31.100.40.80

100-40-80 (set/ ) 9 70 40 4xW+4xJ 730 3.31.100.40.80.ST

100-40-80 (M5/ ) 9 70 40 M5 522 3.31.100.40.80.M5

100-40-80 (M5 set/  ) 9 70 40 4xW+4xJ+1xP M5 732 3.31.100.40.80.M5.ST

PG45

90mm
10.2
4.0

100-45-90 (pcs/ ) 9 80 45 605 3.31.100.45.90

100-45-90 (set/ ) 9 80 45 4xW+4xJ 813 3.31.100.45.90.ST

100-45-90 (M5/ ) 9 80 45 M5 605 3.31.100.45.90.M5

100-45-90 (M5 set/  ) 9 80 45 4xW+4xJ+1xP M5 815 3.31.100.45.90.M5.ST

PG50

100mm
10.2
6.0

100-50-100 (pcs/ ) 9 90 50 688 3.31.100.50.100

100-50-100 (set/ ) 9 90 50 4xW+4xJ 896 3.31.100.50.100.ST

100-50-100 (M5/ ) 9 90 50 M5 688 3.31.100.50.100.M5

100-50-100 (M5 set/  ) 9 90 50 4xW+4xJ+1xP M5 898 3.31.100.50.100.M5.ST

3.31.100
Modular
Assembly Technology

®

�^\�

12

20

10
10

100

15

W

PG

PG

10
10

12
20

100

\
'

�

(M
5
)

Machining CodeM5

M5x10

M5x10 Bolt

zinc plated 

M5 Washer

zinc plated 

Fastening SetP

100x100x15

.02

Material: aluminium , anodized 

Connecting Elements

Modular Assembly System Modular Conveyor System Stair and Platform System Machine Guard System www.moduasm.com
All Rights Reserved

Tubular Framing System

M8x30 Bolt

zinc plated

M8 Washer

zinc plated

M8 T Nut

nickel plated

Fastening Set W

M8 Spring Washer

zinc plated

M8x25 Bolt

zinc plated 

M8 Washer

zinc plated 

M8 T Nut

nickel plated 

Fastening Set J

M8 Spring Washer

zinc plated 


